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ENTRANCE EXAMINATION — 2021 - 22
SET-C

Signatur Invigilator
Total Marks: 100

Paper Code No: G01

Time: 1 Hour 30 Minutes
Instructions to Candidates

Do not write your name or put any other mark of identification anywhere in the OMR Response
Sheet. IF ANY MARK OF IDENTIFICATIONS IS DISCOVERED ANYWHERE IN OMR
RESPONSE SHEET, the OMR sheet will be cancelled, and will not be evaluated.

This Question Booklet contains the cover page and a total of 100 Multiple Choice Questions of 1

o

mark each.

3. Space for rough work has been provided at the beginning and end. Available space on each page may
also be used for rough work.

4. There is negative marking in Multiple Choice Questions. For each wrong answer, 0.25 marks will be
deducted.

5. USE/POSSESSION OF ELECTRONIC GADGETS LIKE MOBILE PHONE, iPhone, iPad, pager
ETC. is strictly PROHIBITED.

6. Candidate should check the serial order of questions at the beginning of the test. If any question is

found missing in the serial order, it should be immediately brought to the notice of the Invigilator. No
pages should be torn out from this question booklet.

7. Answers must be marked in the OMR Response sheet which is provided separately, OMR Response
sheet must be handed over to the invigilator before you leave the seat.

8. The OMR Response sheet should not be folded or wrinkled. The folded or wrinkled OMR/Response
Sheet will not be evaluated.

9. Write your Roll Number in the appropriate space (above) and on the OMR Response Sheet. Any
other details, if asked for, should be written only in the space provided.

10.  There are four options to each question marked A, B, C and D. Select one of the most appropriate
options and fill up the corresponding oval/circle in the OMR Response Sheet provided to you. The
correct procedure for filling up the OMR Response Sheet is mentioned below.

CORRECT METHOD
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WRONG METHODS
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are divisible by S but not




6.  What is the smallest prime factor of 1001?

/ R B. 5
£t D. 11
o)’lf
7. The sum of first five multiples of 3 is ; ‘:qln A5
AV 45 B, 35 okl
C. 63 D. 75

8.  Which of the following is a prime number?
A. 33 B. 8l
CHe.93 D.Y 97

9.  The difference between the length and breadth of a rectangle is 23 m. If its
perimeter is 206 m, then its area is:
A, 2420m’ B. 1520m’

C. 2520m’ D. 2480 m’

10. If2x+ 7=x"- 1/N = 4x -3, what is the value of N?
A. 172 B. 1/8

C. 14 D. 1/6
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- 1L The value of p (12) for p (2) = 2* .22 + 2 is
A The B. 5/16

C. 316 D. 116

N Wil

12. A two-digit number is such that the product of the digits is 8. When 18 is added
~ to the number, then the digits are reversed. The number is:
X
A. 18 B. 24

-

C. 4 D. 8l

circular cone is 10 m and its height is 8 m. Find the

r rv “-"‘-T-" "‘K- 1 (B8
A. 60mm’ B. 30am’
C. 80am’ D. 40nm?

A me allic sheet is of rectangular shape with dimensions 48 m x 36 m. From each
of its comers, a square is cut off so as to make an open box. If the length of the
~ square is 8 m, the volume of the box (in m’) is: o L/ ‘%

A. 4830 B. 5120 e

~C. 6420 D. 8960
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sthe area of the plot?
B. 12000 sq.meter

D. 4500 sq.meter
" S8F JAMIA MILLIA ISLAMIA A a

-

e th 16 cm from the centreofﬂ!eclrcle of radius 10

D. 12cm

ible values of a and b?
B. ags’bnz

T -
~d;-—'.?"

_ Hdistﬂbunon, the mean and mgditmare 21 and 22 respectively,

P’y
S U
approximadld ly

Ao Te

Be20.5

D. 240
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D. 3/4

‘Three houses are available in a locality. Three persons apply for the houses. Each
O “&ppﬁ&foronehousemthmﬁconsulung«hus.ﬁnpmbab:htythataﬂthethree
~ apply for the same house is

' ;.

21.  The arithmetic mean (average) of 3, 5, 7 and y is 100. What is the value of y?
o :

BNA . 85 B. 95 33 B’f‘i S

-'{:'ujx“‘ l D. « 385 L0

A quiz consists of true and false questions. The ratio of the number of true
questions to the number of false questions is 4:3. About what percent of the

questions are false? A r'cé:



23. Jack is now 7 times as old as Jill. If 10 years from now, he will be 3 times as old

<\
as Jill, how old is Jack now? g 3" ;
=" o
A 14 Bl 21, Lasd AL,
C. 28 D. 35 N U
' s
R
n%
24.  If2x+ 3y =34 and (x + y)/y = 13/8, then Sy + 7x =?

A. 82 B. 75
Cs 66 D. None of these

25. IfLog.(1/8)=-3/2,thenx isequal to
A. -4 B. 4
C 114 D. 10

26. The graphs of the two linear equations ax + by = ¢ and bx - ay = ¢, where a, b and

c are all not equal to zero,
A.  are parallel B. intersect at one point
C. intersect at two points D.  perpendicular

27. The exam scores of all 500 students were recorded and it was determined that
these scores were normally distributed. If Jane's score is 0.8 standard deviation
above the mean, then how many, to the nearest unit, students scored above Jane?

A. 394 B. 250
C. 400 D. 106
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28.

A school committee consists of 2 teachers and 4 students. The number of

different committees that can be formed from 5 teachers and 10 students is
A. 10

B. =S

C. 2100 D |8

29.  The perpendicular bisector of the line segment joining P (1, 4) and Q (k, 3) has y-
intercept - 4. Then a possible value of k is
A. 1 B. -4
s 3 D. 2

30.  In the coordinate plane, triangle ABC has vertices A (0, 0), B (8, 2) and C (8, 10).
Point D lies on BC, such that BD: DC = 5: 7. What is the area of triangle ADC?
A. 28 B. 32
C. 36 D. 40

31. The angle between the lines 2x =3y =-zand 6x=-y=-4zis
A. 0 Degree B. 90 Degree
C. 45 Degree D. 30 Degree

32. Which one of the following is not a prime number?
A, 4] B. 6l
e — D. 91

19]
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33. The average weight of a class of 24 students is 35 kg. If the weight of the te:chser
be included, the average rises by 400 g. The weight of the tez'lche‘:;:,“ f‘%’j
A. 45kg B. 46kg /-:'ﬁz : iy ge°
C. 47kg D. 48kg Ll

34. The largest 4 digit number exactly divisible by 88 is:
A, 9944 B. 9768
C. 9988 D. 8888

35. The diagonal of a rectangle is 41 ¢cm and its area is 20 sq. cm. The perimeter of
the rectangle must be: @ (o
A. 9cm B. 18 cm
C. 20cm D. 4lcm

36. The difference between a two-digit number and the number obtained by
interchanging the positions of its digits is 36. What is the difference between the
two digits of that number? %;" b
A. 3 B 4
c. 9 D.  None of these

GO01 SET-C 3]
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37.

B. 900m’
C. 1200m’ D. 1400 m®
(S /‘(o/ w ;o’b
v :
38. How many 3-digit numbers ca‘x: %e formed from the digits 2, 3, 5, 6, 7 and 9,
which are divisible by 5 and none of the digits is repeated?
g sxly S
A. 5§ B. 10 130
Cam s D, ~20
39. Find the coordinates of the point equidistant from the points A (I, 2), B (3, -4)
and C (5, -6).
A. (2,3) B. (-1,-2)
C. (0,3 D. (1,3)
40.  Find the value of p for which the point (-1, 3), (2, p) and (5, -1) are collié)ear.
25
— B. 3 ,f=te="3 o
. g;/?‘ & ¢-3%7 o2
ey 2 3 R
41. What will be the solution of these equations ax+by=a-b, bx-ay=a+b T
vz \ Zadl a v
A x=ly=2 B. x=2,y=lI st
257 e
C. x=2,y=2 “D. x=ly=1 aAd o\"\),,;.:.~
E "5 158
(11]
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A hall is 15 m long and 12 m broad. If the sum of the areas of the floor and the

ceiling is equal to the sum of the areas of four walls, the volume of the hall is:
A. 720m’
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42. Construction of a cumulative frequency table is useful in determining the
A. Mean B.  Mode
C. Median D.  All of the above
43. If three coins are tossed simultaneously, than the probability of getting at least
two heads, is @‘” ’.ﬂ.\,q'\
A. 14 B "3/8
e AR D. 1/8
44. A cylinder and a cone are of the same base radius and same height. Find the ratio
of the volumes of the cylinder of that of the cone. .
AL 13 B. 1:2 ﬁg‘,“ ':’\)’(‘)”‘
c. 31 D. 2:1
45. If AB is a chord of length 16 cm, of a circle of radius 10 cm. The tangents at A
and B intersect at a point P. Find the length of PA. - @
_i A. 4cm B. 8cm
| C. 203cm D. 40/3cm
i!|
46.  Find the distance of the point (-6, 8) from the origin.
i g (S IS B. 11
.
i C.v 10 D. 9
12]
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47.

What is the area of a semi-circle of radius 5 cm?

A.  7857cm 25" B. 7142cm
o U
C. 63.18cm e D. 79.86cm

NE ', |

48. Two ships are sailing in the sea on the two sides of a lighthouse. The angle of
elevation of the top of the lighthouse is observed from the ships are 30 degree
and 45 degree respectively. If the lighthouse is 100 m high, the distance betwee%\

S
the two ships is:
, -
A. 276 meter B.v 273 meter ﬁ@‘ e oesf o
"-4."’ G )
C. 270 meter D. 263 meter &

49. A man completes a journey in 10 hours. He travels first half of the journey at the
rate of 21 km/hr and second half at the rate of 24 km/hr. Find the total journey in
km. e a2 5

11 lbs L ;51
A. 220 km B. 224 km —~e >
C. 230km D. 234 km

50. A can contains a mixture of two liquids A and B in the ratio 7: 5. When 9 liters of
mixture are drawn off and the can is filled with B, the ratio of A and B becomes
7: 9. How many liters of liquid A was contained by the can initially?

A. 10 B. 20
C. 21 D. 25
(13]
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51.  What is the full form of W3C?
A.  World Wide Web Consortium
B World Wide Web Company
C. World Wide Web Center
D. World Wide Web Command

52. In Computer world, Trojan Horse refers to

‘ A. Virus B. Malware
|i C. Worm D. Spyware
‘J 53. A collection of program that controls how your computer system runs and
processes information is called
A. Operating System B. Computer
C. Office D. Compiler
54. is the application of the investigation and analysis techniques to gather

and preserve evidence from a particular computing device in a way that is

suitable for presentation in a court of law.

A. Robotics B. Animation

C.  Simulation D.  Computer Forensics

[14]
GO1 SET-C Entrance Examination — 2021 - 22




35.  One Gigabyte is approximately equal to

A. 1000,000 bytes B.  1000,000,000 bytes
| C.  1000,000,000,000 bytes D. None of these

56. One nibble is equal to how many bits?
A. 4bits B. 8 bits
C. 12bits D. 16 bits

57.  What is the term used for verification of a login name and password in computer

terminology?
! A.  Configuration B.  Authentication
a C.  Accessibility D. Logging
" 58. A technique used by codes to convert an analog signal into a digital bit stream is
t known as
f A.  Pulse code modulation B.  Pulse stretcher
' C.  Query processing D.  Queue management

59. Which of the following is an anti-virus software

A. Dreamweaver B.  Quick heal

Flash D. Oracle

[15]
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B.  Shape of screen

D. Number of colours it support

g

Ubiquitous Teflon Port B.  Unshielded Twisted Pair

nly Terminating Port D.  Unshielded T-connector Port

rating System of Computer Network
em designed to prevent unauthorized access.
_‘ A web browsing Software

[16]
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Which of the following is the numerical computing software for scientists and
mathematicians?

A. EDGE B. Excel

C. MATLAB

65. A wireless technology built in electronic gadgets used for exchanging data over
short distances is?
A. Bluetooth B. Wifi
C. Modem D. USB
6. FullomorURLisy R
A.  Uniform Resource Locator B.  Uniform Resource Link
C.  Uniform Registered Link D. Unified Resource Link
67. Who is also known as Father of Computer?
A. Vint Cerf B. Tim Bemer Lee
C.  Charles Babbage D.  Steve Jobs
68. What is used to make computer chips?
A. Copper B.  Steel
C.  Silicon D. Iron
[17]
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B.  Modem

‘D. Serial Port

S8F JAMIA MILLIA ISLAMIA
New D

D.  Fatal
ove fixed income or salary
B.  Sinecure

D.  Prerogative

(18]
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Directions (74-75): In the following questions, groups of four words are given. In

each group, one word is correctly spelt. Find the correctly spelt word.

74.
A. parapharnelia B. parsimonious
C.  peccadilo D. peadiatrics
7. g
measurable B. managable
C. marriageable D. manoevrable

Directions (76-77): In the following questions, out of the four alternatives, choose

the one which best expresses the meaning of the given word.

76. FOSTERING

A. Nurturing Safeguarding
C. Guiding D. Caring
77. DEFER
A. Differ B. Defy
. Postpone D. Indifferent
(19]
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'%ﬂmhmw
B. it
D blow

S8F JAMIA MILLIA ISLAMIA
Ne

. X T Ee
B. shake

ol
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POEPO. What code is needed for CE
' €

B. EFIMJ

D. EFMU

ﬁe“"‘l .

o
‘g"ia,ﬁ &3:%' will be the 8th term?
1‘\\
~ B. 4374V
‘,‘74."{

D. 7434

[20]
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Wil

R

- 4 ’ .. '4.:1-“"&& 3’5. -I' h m ;
B 1,24, 3,5
u”

4,1,5,3,2
= j- ) _A":;.

wree of the words will be in the same classification, the
‘be. Your answer will be the one word that does NOT belong

4

.....

= A. Ghee B. Milk
D. Curd

ch word does NOT belong with the others?
VA Lungs B. Cancer
C. Pancreas D. Heart

121]
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' ding :: Sculptor :?
" Museum B. Stone

Chisel D. Statue

[23)
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; i!ﬁﬁmeut that must be true according to the given

_________

7 vC. *Mnrlee wants to move to the East Coast.
D.  Sarais older than Marlee.

124)
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L ~, rs from 1 10 100, then how many times do you
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